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Section I

3rd Language

Instruction for Q 1 and Q 2. Read the passage and answer the questions.

Look at your palm and specially the tips of your fingers closely. You will see the lines
on your fingers when it is printed on the paper. It is your fingerprint !

Each person's fingerprint is unique. There are millions of people in the world but each
person has a different fingerprint.

Isn't it amazing ? A cheat can copy your handwritting or your signature. But he can't
copy your fingerprint. It belongs to you alone. Even police can use them to catch thieves and
criminals. What other things can you think of that are unique to each person ?

1.  Choose the correct option

Cheat Can't
Copy Your......
(1) Plam (2) Hand writting (3) Finger Print (4) Signature.
2.  This passage is about person's
(1) fingerprint (2) foot print (3) paperprint (4) colourprint

Instruction for Q.3 to Q. 5: Read the passage and answer the questions.

Carver wanted to help the poor farmers who had small farms in Alabama. He
showed them how to get good crops. These farmers grew plants like cotton because
there was profit in it. But cotton made the soil poor. Carver told them to grow crops
like peanuts and beans. These crops made the soild rich again. The farmers got very
good crops. In fact, the crops were so good that the farmers did not know what to do
with so much of them. But carver began to look for new uses for these plants. From

Space for Rough Work
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peanuts, he made suger, ink, boot-polish, colours, soup ------ as may as 300 things !
From sweet potato he made 8 things. Soon, these crops were in great demand and the
farmers were happy.

Fill in the blanks with proper alternative made soil poor.
(1) peanuts (2) beans
(3) cotton (4) sweet potato

What did Carver show the farmers ?
(1) To grow crops like peanuts and beans  (2) To look for new crops

(3) to become happy (4) how to get good crops
How many things Carver made from sweet-potato ?

(1) 418 (2) 118

(3) 300 (4) 318

Choose the opposite meaning word for the underlined words.
Hercules was brave and strong, but his enemy was and
(1) deadly and difficult (2) strength and big

(3) timid and weak (4) thin and kind

Choose two correct alternatives to form the meaningfull words and complete the web.

(1) hd (2) grey (3) brow (4) lead
Read the information carefully. Choose the specific word that is described in the clue.

'Many people believe that if a cat crosses your path, then your work will not be done.
Many times people believe in things which are not really logical or resonable. It is
called

(1) trust (2) fact (3) fantacy (4) superstition

Space for Rough Work
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9. Choose two correct alternative to complete set of words realted to oil.
CM|o|L|{I1I|V|E
O[|S|U(J[G|Q|R
C[lE|N|S|Z|D|1I
O[|S|N|O|[T|J |C
N[|lA|G|T|B|A|E
U(IM[(P|P|C|V [R
\TJ E|P|L|{K|N|P
(1) RICEBRAN (2) ALMOND
(3) SESAME (4) OLIVE
10. Choose correct alternative for underline verb.
Leelavati was fond of flowers. She loves to watch the lovely lotus that stood straight in
water.
(1) loved (2) will love
(3) love (4) loving
11. Choose the correct alternative to complete crossword puzzle. It is related to grains.
B J|R|A
Q)
W|H | E T
R
() E 2) A
3) 1 4 O
Space for Rough Work
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12. Farida spoke with his friends about celebration of science day in school. Other friends
expressed the views. Choose one correct option.

!
Why not? Let's do
?
You are
True right
(1) disagreed with Farida's opinion (2) agreed with farida's opinion
(3) angry on her (4) showed sorrow

13. Find the odd stentence out. Choose one alternative.
(1) What hard luck ! (2) What did he do in the evening.?
(3) How did you spend your holiday? (4) How was your holiday ?
14. Choose one correct alternative.
Christina felt the cool, wet sand her feet and relaxed
(1) behind (2) n (3) into (4) beneath
15. Choose one correct conjuction to join two sentences.
She stopped running. She was tired.
(1) but (2) and (3) because (4) 1f
16. Choose one correct alternative.
He moved to see the ill man lying helpless by the side of the road.
(1) will (2) was (3) can (4) were being
17. Identify the tense in the following sentence. Choose one correct alternative.
The bell had already rung when I reached to school.
(1) present perfect (2) future perfect (3) simple past tense (4) past perfect

Space for Rough Work

0122 -A 50f32 P.T.O.




18.

19.

20.

21.

22,

Choose one correct alternative which have similar meaning in the sentence given.
'"The Prime Minister is going to visit Australia next week.'

(1) The Prime Minister will visit Australia next week.

(2) The Prime Minister could visit Australia next week.

(3) The Prime Minister must visit Australia next week

(4) The Prime Minister may visit Australia next week

Complete the sentence using correct alternative

Sunil asked, "What can we do ?"

Sunil asked what

(1) they can do. (2) theycould do, (3) we can do. (4) we could do.
Choose the correct option.

Dear Soldiers,

You sacrifice so much to keep our country safe. Thank you for your bravery. Thank
you for your dedication and your service to our country. You all are our heroes. Once
again thank you to you all.

What is this note is all about
(1) invitation (2) permission (3) thanks giving  (4) request

Form the sentence of superlative degree by choosing the correct option.
The most precious gold metal
(I) Gold is not the most precious metal (2) Gold is the most precious than any other metal.

(3) No other gold is the most precious metal (4) Gold is the most precious metal

My friend left me a message. I can't guess the meaning of it. Can you ?

Sun smiles 4 u

trees dance 4 u

birds sing 4 u

And this is the birthday note 4 u
The number '4' in this message indicates

(1) four (2) for (3) fortune (4) forward

Space for Rough Work
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23.

24.

25.

Choose two options which related with the given slogans.

Books are our Read, lead,
best friends. succeed

Today a reader, Books train your
tomorrow a mind and help
leader ou to be kind.
(1) importance of reading books (2) ways of kindness
(3) Keys to success (4) benefits of reading books.

Read conversation between the librarian and the student. Choose the correct option

and complete it.

Student: Can you me the Oxford dictionary ?

Librarian : Sorry ! It's to someone

Student : No problem. I'll take it some other time.

(1) see, wipe (2) lend, brought  (3) sell, expensive (4) lend, issued
Find the odd baloon from the following.

scuba
% 3 @

\\{~

(1) swimmer (2) scuba diver (3) astronaut (4) sailor
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sgEren c ABCDE FGHIJ KLMNOPQRST UVWXYZ

Section 11

Intelligence Test

26. ‘T, A, I, T, g, o, T AT JGUNGA Ueh ALYUT IT6% SATGEATE T WA TGS
ISTAIHEIA TH A& hIUTT AT ?

(1) o (2) =& 3) T (4) 9
A W, 27 9 31 % WET: T 7 SR U UAiaige et
27. (1) IW (2) afeH (3) Tl 4) 2w

28.
29.
(3) (4)
30. (1) 7213 (2) 5357 (3) 5549 (4) 8729
31. (1) CO (2) BX (3) DL (4) FH

Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNOPQRST UVWXYZ

Section 11

Intelligence Test

260 LR, GE,M,L,N,A, T, N, O from the given letters form a meaningful word and find
out the second letter to the right of the middle letter.

(1) M 2 T (3) R “4) 1
Instructions for Q 27 to Q 31. Find the odd term.
27. (1) Rome (2) Berlin (3) Hamburg (4) Munich

28.
29.
(D) () 3) 4
30. (1) 7213 (2) 5357 (3) 5549  (4) 8729
31. (1) CO (2) BX (3) DL (4) FH
Space for Rough Work
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sgrEen c ABCDE FGHIJ KLMNOPQRST UVWXYZ

32. ‘'Y '® AT qS qWE; UUT ' S % e 3MTg. AT qai<t sl 52 96 Head

‘&' MU & ATEAT FET O TRt ?
(1) 3:4 (2) 3:2

(3) 3:4 (4) 5:3
YA WA WSUidiel 97 @@ UPAra-areal ST A0 I9ren uaig fHaet. (39

a1 wata frarer )
N

() f5 (2) 3 3)9 4 o1
34. WISAAT 3Mheid TehUT fehet SRt 3T ?

33.

(H11 (2) 28 (3) 12 (4) 13

A1 W. 35 W 39 WSt: YEel UsTa Ufeedn e Ja=ar U=I9h St Heiel 3, qars wae faa=n
T AT UETi 318 § AT U Uefa-grear STHit shiurdr qaia J5et af Faret.

35. faoTg dgoiat : FodE® 2 ? WU

(1) 3Rfag e (2) STUUMTS: WIS
(3) FTd R (4) o= o™
Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNOPQRST UVWXYZ

32. AgeofAis double of age of C but % times that of B. If sum of their ages is 52 years than

what is the ratio of the ages of C and B ?
(1) 3:4 (2) 3:2

(3) 2:5 4) 5:3

33. Identify the rule underlying sequence and determine the number in place of the
question marks. (Select two correct alternatives)

& L A

(M o (2)3 3)9 4 Vo1

34. How many triangles are there in the given figure ?

(H 11 (2) 28 (3)12 (4)13
35. Gavatphula Re Gavatphula : Indira Sant :: Chaitrapadva : ?

(1) Ashok Thorat (2) Shankar Vaidya
(3) Mangala Gokhale (4) Keshav Sut
Space for Rough Work
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e : ABCDE FGHIJ KLMNO PQRST UVWXYZ
36. WS TRl ¢
oo., w2 '
25 || | | R ¢
A
(D 2) 3) 4
37. 17:297 :: 13 : ? (R g Ui fHast. )
(1) 177 (2) 182 (3) 173 (4) 165
38. 22:462: ? :756
(1) 29 (2) 24 (3) 27 (4) 28
J.T L.
39. E.T..F.?(aﬁ'—ramgwhﬁa's'r)
R X N X
(1) T (2) T (3) G (4) Vi
40. TR TG WETHT VAT STHATHT ST STATehe  WTASAT ThHTRTAR 37T 3T AT STaiehe

QR T THHTERTER. TehdT SHT AT, T T T HHtd shHt ferdt Tet 3ot 3tred ?

(1) 13 (2) 17 (3) 19 (4) 15
Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNO PQRST UVWXYZ
36. Question Figures
)| | B ||| -

37.

38.

39.

40.

Answer Figures

(1) 2) A3)
17 : 297 :: 13 : ? (Select two correct alternatives)
(1) 177 (2) 182 3) 173
22:462:: ? :756
(1) 29 (2) 24 3) 27
% : % - % :? (Find out two correct alternatives)

R X N
) — ) T 3 G

4

(4) 165

4) 28

@

To the left of Rakesh at 12th place Ajay is standing who is at 7th place to the right of

Amar who is exactly at the middle place in the row. Find the minimum number of boys

standing in the row.

(1) 13 2) 17 (3) 19 4 15
Space for Rough Work
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g ct ABCDE FGHIJ KLMNO PQRST UVWXYZ
41. WA STHATA ATRET WU TehuT Uy fehelt ?

=

(116 (2) 15 (3) 17 (4) 18
T WS ATk 42 9 43 W31 ¢ Wied=an STiahdra FRISToT e faemetedn g st faet.

gl WUl

— e @

42. heh QT Wb WesdT AU WG femell 3Tl 2
(1) 26 2) 9 (3) 21 (4) 16
43. G-E TR 3 fohet W Ied i AT ha St Wesdl od e ?
(1) 20 (2) 27 (3) 16 (4) 13

44. T T Fui<t GHAT TG e STHEAH 15 urg 18 fEad oy Hdiy shioren ant
FHHTER T A5 ?

(1) wfEr (2) Hoem (3) gehaR (4) 9MER
Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNOPQRST UVWXYZ

41. How many faces are there in the following figure ?

(1) 16 (2) 15 3) 17 (4) 18
Instruction for Q. 42 & Q. 43.

—Cricket Players

42. How many players play only two games ?

(1) 26 2) 9 3) 21 (4) 16
43. How many Kho-Kho players can not play Kabaddi ?
(1) 20 (2) 27 (3) 16 (4) 13

44. A leap year starts from Sunday on which day Santosh will resume his duty if he has
taken 18 days leave from 15th May ?

(1) Saturday (2) Sunday (3) Friday (4) Monday
Space for Rough Work
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g c ABCDE FGHIJ KLMNO PQRST UVWXYZ
45. Teorea HireRe Ia WeATE=ETeaT St ShiuTdt HEr J5et ?

51 3|4
51|39 | 6
g8 |7 |°?
(1) 4 (2) 6 3) 9 “4) 2
UST hHih 46 I 50 HIST : @I USEAT HIfAehdie! shil I8 U3 TSH{E-2rear STt JuTR U8
LPRIDIGERECEL
46. 0,4,18, 7,100, 180, 294
(1) 42 (2) 58 (3) 32 (4) 48
47. 6,—-1,14,11,30,31,?
(1) 45 (2) 54 (3) 44 (4) 49
48. WS STTEhea
¢
y b y
(1) (2) (3) 4)

Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNOPQRST UVWXYZ

45. Find out the number which will replace the question mark in the given square ?

5136
51139 | 6
g |7 |7?

(1) 4 @) 6 3) 9 4) 2

Q 46 to Q 50 Instructions : A series of numbers/figures/symbols/letters is given below
Determine the rule underlying the series and find out the term in place of
the question mark.

46. 0,4, 18,2, 100, 180, 294

(1) 42 (2) 58 (3) 32 (4) 48
47. 6,-1,14,11, 30,31, ?
(1) 45 (2) 54 (3) 44 (4) 49
48. Question figures
¢
Answer figures
A Z
- =2
/ V
(1) 2) 3) (4)

Space for Rough Work
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sgEren c ABCDE FGHIJ KLMNOPQRST UVWXYZ

49.—625‘3—?,—%»@)&@1, L ABE B
<1>[b¥-—6?ﬁ <2>—B‘§‘~®—/5
& LTI O-A @ _ OaX

50. ABCDE FGHIJ KLMNO PQRST UVWXY
RLF, OJE, LHD, IFC, ? (37 319 uaiy faer)
(1) UNG (2) FCA (3) FED (4) FDB

51. 3T TR LI Al & SHT BT, UG ATAAT THUT T AeBT Tolel: =T SIS STl
SRICHIAT TBAT. AT TS STST BTaT e fE9m fEerean uatar et st shioTdr ?

(1) & (2) wfym (3) T (4) o
52. 8 aTeIA 20 fafei=t g=uresren fufe o araenTeaTa fehdt ST9T HTUTET i &t ?
(1) 115° (2) 125° (3) 110° (4) 130°
53. Qe USATghde TR STEUTHT ShiuTar ?

WSS 3Tehell : ST 3Tehedll
’ 1) @ G) @)
Space for Rough Work

0122 -A 18 of 32 P.T.O.




Alphabets : ABCDE

FGHIJ

KLMNO PQRST UVWXYZ

49.

50.

51.

52.

53.

L

, A OACE

Q) Eh%—q)ﬁ
3 L IR O-A

’a'e)

p]

o THHO A
@ oK

]
/N

R 25

|
-
L

Y SN0
Y

ABCDE FGHIJ KLMNO PQRST UVWXY
RLF, OJE, LHD, IFC,? (Select two correct alternatives)
(1) UNG (2) FCA (3) FED (4) FDB

Atul and Arun are standing face to face. Atul faces South-West direction. Arun turns
to his right two times in 90°. Which direction will be on the left of Arun ?

(1) South East (2) West (3) South West (4) East

At 8.20 what will be the measure of the angle between minute hand and hour hand of
clock ?

(1) 115° (2) 125° (3) 110° (4) 130°
What will be the water image of the given figure ?

In the following quetion, a question figure is given below. Identify the water reflection
of that figure and select the correct alternative.

Question figure Answer figures
(1) ) 3) (4)
Space for Rough Work
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sgrEren c ABCDE FGHIJ KLMNOPQRST UVWXYZ

AT : U Ak 54 F 55 HIGT : Weie WOATRIda! I TFauT STHUTRY 3Tehdl T
fraet

54. TS 3Tkl
J/

JTX ATchcAT

351/ (921 [RT) 85

(1) (2) (3) (4)
55. WS et

I\

) N U N N N W W

| T3

(D (2) (3) (4)
Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNOPQRST UVWXYZ

Instructions for Q. no. 54 and Q. no. 55 for the given question figures choose the correct
mirror image from the alteratives.

54. Question figure

JZR

Answer figures

AN AZLRATD) (A

(1) 2) 3) 4)

55. Quesion figure

L% WA NN N

N\

2 3) 4
Space for Rough Work
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sgEren c ABCDE FGHIJ KLMNOPQRST UVWXYZ

56. @el A faam & F A &Kol 31 ®ers s avg u=iare fas .
faam  : (37) wd feres weTeRR STEA

(9) Rl AR 3T Tgard
SAAA : () Hd et SAMQM TR
(T) AFId TRUIR T cleh shollshR ST

Ty ¢
(1) &6 ‘% T (2) ‘% 9 ‘T = A
3) % ‘T I (4) ‘& 9'T I g

T : WS ShATeh 57 A 59 WIST : WEe 18R/ T/ 37k AT iaelg Higuiiere e STt
FuTrAT AR/ T/ 3teh T e vt et

57. p__qdl_lbq___ ldbgpl qgb
(1) bgdpd (2) bpbpd
(3) bbppd (4) bpdpd
3. Ove xx_O_*¥V_O_¥*xxo00x#_9
M ox vOm @ ovOoxXnO
O OXOV R @ OO0OX TN
59. 23 6692 _ 466923466 234 _ 69234
(1) 4396 (2) 6394
(3) 4433 (4) 2346
Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNOPQRST UVWXYZ

56. Two statements and two conclusions are given below. Find out the suitable alternative.
Statements :  (A) All teachers are artists.
(B) Few artists live happily.
Conclusions : (c) All teachers live happily.

(d) All those who live happily are artists.

Alternatives
(1) Only ‘C’ true (2) ‘C’ and ‘D’ both false
(3) Only ‘D’ true (4) ‘C’ and ‘D’ both true

Instruction for Q. no. 57 to Q. no. 59. Arrange the given letters/signs/numbers in series and
find out the suitable letters/signs/numbers replacing the blanks.

57. p__qdl_lbq___ l1dbgpl _¢gb
(1) bqdpd (2) bpbpd
(3) bbppd (4) bpdpd

58. g&#%x_o__ﬂ*%@__m_%*xoox*_@m

M ox oM @ o¥vmXnO
G OXOVR @4 O0OX A%
59. 23 6692 466923466 234 69234
(1) 4396 (2) 6394
(3) 4433 (4) 2346
Space for Rough Work
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sgEren c ABCDE FGHIJ KLMNOPQRST UVWXYZ

T ¢ YSIgRHTSh 60 O 62 WIS : WSS 3ieh 9 /NS To o FARI0T et WAt ugiaed
JTHUTIAT 37k F ALTAT TATET v AT B3 WS E-gIeaT ST JUTR U e .

y X W \% u t S r q
20 19 18 17 16 15 14 13
] k Il m n o p

60. wijilb : spend:: ? : tofmc

(1) vkmhb (2) unglh (3) vkhmc (4) v-k-8-17-5
61. j-x-v-18-9: ? ::i-k-m-9-4: e-0-m-10-5

(1) p-r-t-n-g (2) p-r-t-15-10 (3) p-r-s-14-11 (4) pr-t-16-11
62. 6-18-20-j-19 : 3-15-13-p-14 : : b-1-j-20-x : ?

(1) d-n-p-13-r. (2) d-h-p-12-r (3) d-n-p-13-g (4) d-n-p-13-e

63. ‘In ot e URuT fEATTE Hes Yieh araeTeT Hehed ShiudTd STTET. | 3T STeTd SITSTei
b ITeR et 3TeH TR 2
(1) 6 (2) 4 (3) 8 4 7

64. TG ABCDE FGHIJ KLMNO PQRST UVWXY
feeret 78Tt 3ot wAT fafgeam® NIGHT &7 It fasagreft gresidter sreri=an

arRATeRTeT e fEeiean uataitent shroTar Aget?
(1) 25,21, 22 (2) 14,17,19,18, 6  (3) 22,25, 1 (4) 12,17, 19, 18, 6
Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNOPQRST UVWXYZ

Q 60 to Q 62 : Observe the following pyramid and choose the correct alternative to replace

60.

61.

62.

63.

64.

the question mark.
y X W A u t S r q

20 19 18 17 16 15 14 13

] k Il m n o p

wijilb : spend : : ? : tofmc

(1) vkmhb (2) unglh (3) vkhmc (4) v-k-8-17-5
j-x-v-18-9: ? ::i-k-m-9-4 : e-0-m-10-5

(1) p-r-t-n-g (2) p-r-t-15-10 (3) p-r-s-14-11 (4) pr-t-16-11
6-18-20-j-19 : 3-15-13-p-14 : : b-1-j-20-x : ?

(1) d-n-p-13-r (2) d-n-p-12-r (3) d-n-p-13-g (4) d-n-p-13-e

‘This year on the occasion of ‘Reading Inspiration Day’ it has been resolved to read
thousand books. In the given sentence how many times the Sth letter of English alpha-
bet is repeated ?

(1) 6 2 4 3) 8 4) 7

Alphabet series: ABCDE FGHIJ KLMNO PQRST UVWXY

If the given letter series is written in reverse order, then which alternative gives the
correct numbers that indicate the word which is antonym of the word “NIGHT” ?

(1) 25,21,22 2) 14,17,19,18,6  (3) 22,25, 1 4) 12,17,19, 18,6

Space for Rough Work
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g ct ABCDE FGHIJ KLMNO PQRST UVWXYZ
65. Tecrean rgRHTAIeT Ueieh TETdIe! TaY o =19 T8I U FE STITHTAT qa ShedTd Srat
THEA GUTT SFATAT JFHUTAT ST ST ShivTdt 2 (A 3Teeh u=ig fHasr)
(1) LN (2) GS (3) IN (4) QL
66. ‘STTYTHIST M JAIAT I ST & UIUTAE & chell. IAT ATeRITd @Ieel ggiaidiet
FTRTTEI U ShHITTCH 168 TR Tk F16 SATeHeTl et ?
(1) SHIOTETE SR AT T (2) 3T TR
(3) WIoRd a0 fHesvard foshm (4) THAM T UEA HBAuN
67. elel UTHES faeTd Ug hivTd ? (7 o7geh udta fHaet. )
20, 39, 56, 69, 81, 87, 92, 95, 96
(1) 96 (2) 56 (3) 87 (4) 81
68. WTCilet AR SMMeReATATST 3ieh foet 3rmea

OD{o|A|V|V|*|x|e|®|p|0|am]|A
W'Wﬁ“scngmumntoﬁ376543_
. C% <A)“ (E):

=
(1) & 2 VY 3) O 4 A

69. WWWW m ﬁ@ﬁﬁ‘a’,‘W’Qﬂﬁﬁ‘a’,‘w’ﬁﬂ?ﬁ‘?’,‘m’ﬁaﬁ
‘o1’ T ST UESTr T STGRTET ATUR hedl. TTTER Ueh TEdhtd ShidMT & ETeie WHToT
e feeama @ ettt faeneat+ watfimn et Fweret FHdt o ?

§ 9 39 9 99T dF 999 dTF I T T3 I J 4

(1) =r=n (2) ferat (3) T (4) ==
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65. From the given alphabet series, if a new series is formed by taking 2nd and 4th letter of
each group then find the pairs of letters which are at the same distance from both side.
(Find two correct alternatives)

(1) LN (2) GS (3) IN 4) QL

66. ‘A generous man started a free mess with water facility for the orphans.’ In the given
sentence for which group of words one word is not there.

(1) Having no parents (2) A person who is kind

(3) A place where food is available (4) A person who is very sensible
67. Find the odd term. (Select two correct alternatives).

20, 39, 56, 69, 81, 87, 92, 95, 96

(1) 96 (2) 56 (3) 87 4) 81

68. In the table below numbers are given to different symbols.

OD{o|A|V|V|*|x|e|®|p|0|am]|A
tClwsftg |3 [12fU l03876543.

e [(8)<(AT]+(D) -

(1) & 2 VY 3) O @ A

69. The monitor of the class instructed the students, in a specific manner. He used letter
‘A’ for listening, B for writing, C for reading, D to stand up and E to sit down. Observe
the following series of instruction given by the monitor and find out the action done for
the maximum number of times by the students.

BACDBAAEDBABDEACBACCARB
(1) Read (2) Write (3) Listen (4) Sit down
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70. WeRT Hichfder 9™ POT & 9165 PUOPTQ 3T, OUT & 9188 OUUVTP 37T 31fuT TEN &
9168 TOEFNU 314t fegard, a¥ CUT & 9168 Rl ferfee amget ?

(1) CDUVTU (2) CUUDTV (3) CUUVTD (4) CSUTTB
71. TEH TSGR YUl SHIvamErsaT 9 d uaia Hast

(1) 2) 3) 4)
AT ¢ WS ShHTeh 72 9 73 WIS WIS WSATSRATIN qared STeUTRT STTehid ShiuTel ?

72. WS JRI ¢ I 3MheAT
—— =
—— - — iy T C—
(1) (2) 3) (4)
73. WS JATHIA I ATHAT
2 @90
(1 2 3) 4)
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70. 1In a code language if POT is written like PUOPTQ, OUT is written as OUUVTP and
TEN like TOEFNU, then how the word CUT will be written ?

(1) CDUVTU (2) CUUDTV (3) CUUVTD (4) CSUTTB
71. To complete the question figure. Choose the correct alternative.

Question figure Answer figures

& :
(1) 2 3) 4

Instructions for Q 72 and Q 73. Choose the figure which completely resembles the question
figure.

72. Question figure Answer figures
P\ AR
(D ) 3) 4
73. Question figure Answer figures
R AR
(D) 2) 3) 4
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74. GSTRATAIE! ShTTEAT WTETET WHTOT TS HTeT STiTehd SheTell T ShTIelT STHT TSt SUSTITaN
T AT, HET felier ?

Yo 3Tehfd I IR
(1) (2) 3) 4)
75. WA TSATRI ShiUTeT TITHTAIe Tkl aeTett 31T ?
S TRl :
IR IR
(1) (2) (3) (4)
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74. A piece of paper is folded and cut on the shaded part as shown in the question figure.
How would the paper look like when unfolded ?

Question figure Answer figures

(1 n

«

“‘s__ ;’ _,.f"“ | Loy
) 2 3) 4)

75. In the following question, a complex figure is given. Find out which of the simple fig-
ure given in the alternatives is hidden in the complex figure.

Question figure

Answer figures

(1 2) 3) (4)
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